%6 6 KRR PEE FHEAS Bl
# ¥ e5EANIRPERBELBBARTESR
T2545H17, 18H

£ RMEEHERS
(BF)
¢ XFE100m [ 5.18 ]
i 54 2.7 34
148 0.6 112,18 (Ll FLIE ( % X 2) 1 5516 #IL H#E ( KB
11212 @Y =E ( EZHI 3) 2 12.50 BEEKE ( ZFHI 2) 2 57.83 Jilim K (
2 12,39 ZE K# ( VAN 3) 3 1280 %A K ( BES 2) 3 5811 it HWE ( L8856
3 1255 # —& ( £XKE 3) 4 12,89 il fith ( £IREBE 2) 4 60.30 XKH EBE (F R
4 1259 #H#H —2% (H A 3) 5 13.25 O BA ( # 2) 5 61.14 HE % (& HE
5 13.45 HMA A ( FEEH 2) 6 13.38 MW #MEFE (W ™ 2) 6 61.92 #LE B} (b 1B
6 13.86 LA F#E (F =R 3) 7 1374 ®R BN (& B 1) 772,43 BN R (£ A
701429 BA K ( £RHBE3I) . 8 75.29 B OEBW (W &
RE 4.3
24 -1.2 1 11.82 #iHE BT ( &EESH 2) 44R
11213 ' BB ( ZHN 3) 2 12,05 Kk HEE ( EFN 2) 1 5598 HE #E (X &
2 1260 REF E (B A 3) 3 1213 sy FE (F K 2) 2 57.81 =R BX ( EZHI
3 1268 %M f£xT (£ & 3) 4 12,24 EZE Bt ( B 2) 3 61.08 HL Kig ( R
4 12.89 FHE K#t ( R 3) 5 12.42 A HK (1B # 2) 4 61.57 BKR it ( EXHE
5 13.95 W5 BRI ( £8Ee 2) 6 12.45 BHEKE ( ZHN 2) 5 61.60 &% BF (% HA
6 14.62 WAREX (K & 2) 7 12.46 W (& M| 2) 6 62.65 AHE EE ( %i5E
8 1259 /A X ( BEE 2) 7 6488 & #BE ( #®
348 0.4
111,91 @ Xz ( £XME 3) R 1 5470 #L HE#E ( £XHE
2 11.97 #Fb R (& 3) & #£BE200m [ 517 ] 2 5488 HE il (K &
3 1275 ®R BK (& M 3) T 3 5576 @I AR ( BE&
4 13.56 {EEE I3 (HF K 3) 148 3.1 4 56.21 REBEXE ( £RfHE
5 1408 #HHE &L (F R 3) 1 2466 L XiE ( ®KXME 3) 5 56.77 @A # ( ET#T“B
6 14.73 TE &I} (K & 2) 2 2516 5K #HE ( BEE 3) 6 57.10 EEB {#A ( & X
3 25,41 REBMEXER ( £#R$HBE  3) 757,29 JlEE KEO( ®&
448 0.7 4 26.09 #EHA #HK ( 11% k| 2) 8 59.09 (LF EOCEEHN
112,02 ## AR ( EES 3) 5 27.82 & @BH (F K 3)
2 12.46 Jlljt KBk ( ®iRfRE 3) 6 28.40 W5 FRiE ( %iF& 2)
3 1253 #MAFHMA ( BEE 3) 7 2865 T Mt (B M@ 2) & #£BE800m [ 5.17 ]
4 1275 TN BAA (4 18 3) FiE
5 13.24 L BEE (| N 3) 24 3.3 148
6 14.83 BE 5# ( %436 1) 1 2416 #e#t &R ( ‘RS 3) 1 2. 16.52 #HXx & ( BR&
2 2433 wmHE Fz ( EXHE 3) 2 2. 28.44 @i XK (2 %
548 1.7 3 2549 %M XKm (& [ 3) 3 2. 3260 ®HF EB— (4 B
1 11.63 #M%H HF ( aREA 3) 4 2575 HHE WF ( BEE 3) 4 2. 3428 MEH EE (F K
2 1211 HEZE A (% H 3) 5 2695 K —#F (F R 3) 5 2.3458 @& =B (1, #
3 1268 #%HF A (4 1\ 3) 6 28.09 /MR MF (4 B 3) 6 2. 3644 AW ( 8
4 13.26 @M H (1 #&F 3) 7 2. 4.8 #F BR (£ &
5 144 H# #B (H & 2) 34 1.2
12448 #FHL K& ( % 3) 2#4
R -0.5 2 2495 tH RBW ( wmEiH 2) 1 2. 12,18 BH HE ( 8RE&
1 11.55 #% H& ( & 3) 3 2546 I KRR ( ®RE$BE 3) 2 2. 16.56 =% BF (% H
2 1205 #F R#E (& 3) 4 258 HE A (F H 3) 3 2. 16.85 A F=H ( #&
3 1208 @A Fz ( &XHE 3) 5 27.43 L BEFE (1B F 3) 4 2. 1810 B E ( R
4 12,16 @M =E ( EHI 3) 6 28.64 thE FE (K & 2) 5 2. 41.97 F = (1|
5 1220 %2 A ( % H 3) 7 2895 IUT KBY (& M@ 2) 6 2. 45.36 E?k BX (2 #
6 12.22 #N &% ( ‘R 3) 7 3. 401 #EA #BA ( LRE
7 1226 ® EE ( EHN 3) 448 3.9
8 1252 JiE K# (& K 3) 1 2502 it BE ( £&HE 3) 34
2 2543 &KX BN (K & 3) 1 2. 12.85 IAREE (F R
3 26.18 Ll #itE ( EERNI 1) 2 2. 14.06 3R% ¥ ( EEFN
® 1. 2F100m [ 5.17 ] 4 2149 uIFH #E ( R 3) 3 2.219 iR E (35 @
3 5 2036 MH #EB (£ A 2) 4 2. 21.81 hm%H % (£ A
148 3.4 6 29.55 m% Mth (W M@ 2) 5 2. 40.97 RA it (W @
11256 /A X ( BEAE 2) 6 2. 55,22 ki B ( &EXHE
212,91 BT Rz ( %456 2) 54 3.3
3 1292 thl & (F R 2) 1 248 ® EE ( ZHI 3) 44
4 13.23 B (2 #% 1) 2 2547 R FHE (FE K 3) 1 2. 13.41 B8 ZEK ( ®RfIE
5 13.35 WX BA (K f& 2) 3 2576 #H —% (% H 3) 2 2. 1489 EE A (F K
6 13.47 Il ke (H H 1) 4 2658 JlEm K O( #% 3) 3 2. 15.30 /hHE EBI ( EFII
7 13.65 MR EA ( deREFER 1) 5 26.80 Eil =3 (d 18 3) 4 2. 2910 #B/K A (F R
8 13.88 X £# ( 2XHE 1) 6 28.54 it BE (F R 3) 5 2. 3470 #F & (d 18
6 2. 40.10 % BE ( &
24 2.7 R 1.9 7 2. 45.80 JIIOEKEA ( £XHE
11199 #HE BT ( B 2) 1 23.97 #e# &R ( BEEH 3)
2 1267 /A #ER (& 2) 2 2415 t@A Fz ( &KHE 3) 5#f
3 13.32 TmHE B ( %858 2) 3 2420 FL KK (& 3) 1 2. 1207 #E #piE (K &
4 13.62 F) EwH (W ™ 2) 4 2441 ® EE ( BB 3) 2 2. 15.85 & Kt (% H
5 13.90 ZHKEE (F R 2) 5 2459 L H#E ( EXHME  3) 3 2. 24.02 A ﬁﬁll (=& M|
6 13.94 &M %2 ( R 2) 6 24.81 tH RB¥ ( BEEI 2) 4 2. 26.03 ATH ( ®iRER
7 1421 XBE # (£ A 1) 7 2489 SE ME ( BEA 3) 5 2..30.22 M5 ﬁik (# ™
8 1463 EH BF ( 2 # 1) 8 2510 ¥t MWE ( %8856 3) 6 2. 43.38 dthil gl ( FEEER
7 2. 50.34 1 HK ( &ks
3# 4.7 & £EFA400m [ 5.18 ]
112,13 KB BE ( 25BN 2) FE14 R
2 12,86 #B# BE (& 2) 1 5556 @Il BAR ( &F& 3) 1 2. 1294 H#E $FEE (K &
3 13.09 %# L# (% H 1) 2 56.39 REEKXE ( %Rf%& 3) 2 2. 1370 MAREE (F R
4 1311 #E k| (B M 2) 3 56.74 EE BA (F K 3) 3 2. 14571 BH HH ( BES
5 13.60 B £ (K & 2) 4 5775 Lk GE ( BB 3) 4 2. 15,37 EE BA ((F A
6 13.85 @N JH (£ & 1) 5 57.99 t+H =B ( ‘mEH 2) 5 2. 15.46 E8 ZEK ( £R&BE
7 1443 B B ( R 1) 6 6347 #E Fw (& B 3) 6 2. 15.48 REHF K ( EHN
7 7801 FK A (B @ 1) 7 2. 1579 vk EBE ( EEI
448 4.8 24 8 2.21.30 B XK (%H H
1 1220 B 8t (& M@ 2) 1 57.60 A N ( FEE 3)
2 12,33 3%k Bt ( FEEH 2) 2 58.12 BEH# HE ( BEE 3)
3 1256 4EM A (B 0 2) 3 59.92 FEA XT (% K 3)
4 12,80 HHE M ( %xrﬂﬂi 2) 4 60.51 s & (F R 3)
5 12.87 EARIZ—HB ( 3 2) 5 6275 ki BAE ( R 3)
6 13.07 =X B ( Rﬁ%& 2) 6 6515 &#& B (X f& 2)
7 1339 4R F# (& B 1) 7 69.00 BHF Bt (£ A 2)
8 15.41 ERA/NARK (& HE 2)

——_NwWwWwN W
NN NN NN

— NN WwWwW

NN NN AN

—“ N WWN WN
NN NN NN



~owwn—

s
&

— O ©WWAdDUTAWN =

& #EFE1500m [ 5.18 ] & H£EFE110mH ¢ 518 1 ) 348 0.0
¥ )

# 1 13.46 #5i5 B=
4. 2616 WE WE (F A 3) 14 0.2 2 13.64 Ak HWE
4. 2774 hE Eth ( RRME  3) 117,46 MMEEAH ( F @ 3) 3 13.98 ABEELH
4. 29.95 bk ERI (B 2) 2 19.84 FREHHE ( KHE 2) 4 1406 BE =
4. 30.03 feE Fz ( ZHI 3) 3 20.84 ¥ B ( XEI 2) 5 1416 R#& &
4.30.30 A1 BE ( @REBE  2) 4 2101 WA —% (& R 3) 6 1541 EHh EF
4. 30.59 IAREE (EF R 3) 5 2194 JIE KA (3 1B 3)
43110 il EBE ( E@mE  3) 6 2218 HA ME (W ™ 2) 448 -1.4
4. 35.47 ,J? AN (% H 2) 7 2338 dtA mEE ( F® OK 3) 1 1390 #®K i
4. 3568 BE £ (H M 2) 2 1397 Il BE
4. 43.38 #HXx FL ( BEA 2) 248 1.6 3 1478 #iE fikE
4. 4510 #HE £ ( 8] 3) 1 19.26 #il Eh ( BEAL 2) 4 1498 HiE BE
4. 4129 B WM (K @ 3) 2 2002 Il BE (F @ 2) 5 1521 kA& B
4. 48.02 MEHE AKX ( & K 2) 3 2060 MR A ( EXME 3) 6 16.01 LR &R
4. 4824 HBHF B ( R 3) 4 2110 @ B ( B 2) 7 1610 AL m@
4.50.32 & Bz (Hm @ 2) 5 22,62 HMEARE ( KRA 2)
4. 50.45 #’AZS BX (K & 2) 6 2429 I Bz (£ F 2) 54 -0.8
4. 5460 WyHEK ( EXHE 3) 1 2631 2H X# (F KX 2) 1 13.60 A #HF
4.54.89 F WK (E B 2) 2 1530 A% W
4. 554 BF A® (& B  3) 38 -1.5 3 1542 HEXEBT
4. 5845 L@ #ERk (B B 0 3) 1 1873 uH ®E ( R 3) 4 1567 =t =8
4. 50.84 #E K (W A 2) 2 1896 R BE ( BH 2) 5 16.06 & ER
5. 032 #®E % (5 2) 31970 NEER—H ( &XME  2) 6 16.32 A @ik
5. 314 it BE ( &XHE 3) 4 1975 HEF #HE (i 1B 3)
5. 1221 5 R’K ( a 3) 5 2114 AA BE (&£ A 3)  REE -1.5
5. 13.95 {=& #4F (% A1 3) 6 2115 dE WA (F R 2) 1 13.37 BNl A&
5. 1412 FHE EE ( EEY 2) 2 13.42 #E H%TF
5. 1449 A% Hmz ( KRE 2)  RE 0.0 3 13.42 iEH EB=E
5. 1487 BE E (B M 2) 1 17,61 HMEEAH (F @ 3) 4 1369 #BH M
5. 1891 dL)l WA ( mEH 0 2) 2 18.24 FREHWE ( KHE 2) 5 13.72 sk HE
5. 23.09 7{27 B (& & 3) 3 1852 uH BE ( % 3) 6 1375 #E
5. 30.28 XE ( #® 2) 4 1908 B BE ( 2B 2) 71392 &Il BB
5. 31.04 m% B (kw3 5 1955 Il BE (HF @ 2) 8 1418 /NER K
5. 41.91 £ ( BEE 1) 6 19.56 FF #H=E (it 18 3)
5. 51.67 R#%:tﬂﬂ (2 #®# 1) 7 19.96 /EE—E ( SKKME  2)
5. 58.96 ®F ®BKXK (HF X 3) 8 21.30 #L B ( BEE 2) ¢ 1. 2100m
Tk
148 3.8
¢ #£FE3000m [ 5.17 1] & HEEEB ¢ 5.17 ] 1 13.88 REZRRTF
R 2 1417 BE Hx
9. 3479 )l FE ( KIRE 3) 1 1.66 REHEFIAIE ( RIS 2) 3 14.46 BAH #3F
9. 3.1 i =th ( FRBE  3) 2 1.60 %R KM (& B 3) 4 1454 KB PR
9. 37.36 fHE #AB ( F KX 3) 3 1.60 /KX MR (4 1B 3) 5 14.68 )il EHiE
9. 37.97 XA BF ( &R&KE 2) 4  1.50 HHE K# ( R 3) 6 1555 EH E
9. 41.94 KFE BA ( ZHI 2) 5 1.50 #F #®E (4 1B 3) 7 1620 tH %K
9. 50.06 BmE #A (H M 2) 6 1.45 K BA (H ™ 3) 8 16.66 M #A
10. 260 KB F# (F R 2) 7 140 &% BXK (H @& 3)
10. 6.13 f&E B2 ( ZHI 3) 8 1.35 XL BB ( R 3) 248 3.2
10. 15.50 K& LfE (& M@ 3) 11310 #iL =%
10. 16.52 FEE HA (¥ A 2) 2 13.86 k& WA
0. 17.38 @R —% ( BB&  2) o EESH [ 5171 3 14.65 AR #M
10. 2282 FIl ER (K &  2) R 4 1484 tH =
10. 41.62 FH% EiE ( FEEH 2) 1 3.40 # R (% A0 2) 5 15.38 kiR EIE
10. 44.18 MEy#BRA ( £XHE  3) 2 240 B/A EE (W A 3) 6 1541 HEEET
10. 51.21 .—.7&: &% (W om 3) 2 240 FIE K (W A 3) 7 1551 BF BS
10. 52.55 ®# HE ( £KME 3) 8 15.74 BHENMBTF
10. 55.90 W& £ ( #§ 3)
1. 597 AF #He ( LHKE 2) & HEREAR (5ke) [ 5.18 ] 348 1.9
1. 10.39 # | ( &l 2) R 1 13.26 HE e
11. 10,40 {=& #F (® f1  3) 1 1115 &8 BR (5 M| 3) 2 13.84 EA EE
11. 1234 WA 348 (K &  3) 210,24 HE Fth (B A 3) 3 1413 RE S
1. 1438 &% &% (& B 2) 3887 MUl #HAK (FE A 3) 4 1469 di =
1. 1776 F8 K# (% &  3) 4 871 kM B (F R 3) 5 14.87 WAMASE
11. 3479 AR =B ( SEA 1) 5 848 LJIl BE (K & 3) 6 14.87 # @
11. 46.82 WX #HK (& A 2) 6 821 #WAFRMA ( BEA 3) 7 1551 fA FE
11. 47.56 #A —% (© f1  3) 782 FE % (W W 3) 8 1571 faA &
11. 56.74 b 23 (R 1) 8 7.87 #O A— (E A 3)
12. 012 &% W& (F % 1) .78 4% HER ( EEH 2) 448 3.5
12. 31.09 &8 Xx# (& M@ 3) 71.56 fR RTE (4 B 3) 1 13.60 @iE EZ%
) .23 EBD OEF} (4 B 3) 2 1371 BEx(H
) 7.04 =@ B ( ZH) 3) 3 1400 FHHE R
& H£@FE3000mwW [ 518 1 ) 6.99 #m& BEK ( ZHN 2) 4 1406 =X N
) 6.85 A =E (% & 3) 5 1443 KT X8
16. 56.90 @R —¥ ( mES  2) 6.66 % HAH (B 2) 6 1513 @ Ek
18. 1.70 #F EW ( &RKBE 2) 6.52 E#A EF ( KERE 2) 7 1556 #WF #E
18. 35.02 ZiF #HA ( 8|8  2) 8 15.63 {AARIEH
19. 544 =I§ # ( & K 3) (XF)
19. 55 WF & (% A  2) 548 3.1
19. 38.87 %8 A& (& &  3) & #£H100m [ 5181 1 13.56 #@
0. 844 BE =4 (&2 & 2) FE 2 1374 ®mO BYF
20. 11.00 #A @ ( ZEE 1) 14 0.9 31394 MIEEZ
20. 4439 Bl EE ( RAWE  3) 11351 EN R ( EERE 3) 4 1446 EBHSH
2. 13.90 WA £ ( & 3) 2 1403 2E & ( £XME  3) 5 1468 REALTF
25. 42.54 Al GEX ( £XHME 1) 31431 FTHMEH ( EEFI 3) 6 1474 RO K
4 1460 BE £ (B M 3) 71839 BA BmE
0. 11.72 BR B (% A~ 2) 5 1481 #HE B8P (R 3) 8 18.95 mH
27. 0.22 &&% BT ( €KME 1) 6 14.97 @A T¥; (K & 3)
7 15.24 h— BE ( _# 3)  RE 3.3
8 1537 EF R ( SRS 1) 1 1288 HE R
2/  -1.7 2 1291 Bl =&
1 1378 @2 #n (5§ @ 3) 3 1335 HE EA
21392 NEE R#® (K 3) 4 1337 wWE Ex
3 1409 W EE (B M 3) 5 1351 EEECH
4 1498 EE & (B R 3) 6 13.58 =O B|F
5 1528 @ Xk (1| 0 3) 7 13.68 kK& HFE
6 15.45 A B ( 2R\E 1) 8 13.74 EA A%
7 1549 FREKF ( B 3)

WWRN WWW
NN NN

RO W W W ww
NN NN NN

—“ N WwWwWww
NN AN NN

0O Lo LW W W W W
NN NN NN NN

N—= =M NN

NN NN NN NN

NN —=—=NNNN
NN NN AN NN

— =N N
NN NN AN NN

NN =N NN NN
NN NN N NN



¢ XF200m [ 5.17 ] 5% R 1.3
£ 3 1 2. 11.85 RREAHE ( AR 3) 1 15,50 ##IL =& ( KEFE
148 4.0 © K&HEHR 2 16.72 I FLy ( £REBE
12176 #8% BX ( %418 3) 2 2. 51.46 & BAM (A 18 1) 3 1713 HME #HEB ( x &
2 29.82 HHEOEN (B M 1) 3 2. 56.62 L B ( %8RB 3) 4 17.61 #|EA #3F ( EHN
3 30.11 #HBR HL ( R 3) 4 2. 56.94 PR BE (K f& 3) 5 17.97 X 5B ( X%
4 3111 #F B (% H 2) 6 18.81 @IZ =JE (& [
5 31.87 M hhA ( & K 3)  RE 7 19.31 HEKABRE ( b3
6 33.88 Hf EF¥ ( aE& 3) 1 2. 17.30 RREHE ( wEH 3)
7 3424 BR &k (W & 2) © K&HEHR
2 2. 25.44 &# FEO( EZFN 2)
3 2. 25.41 ®k kM ( RR&EER  2) & HEESB [ 5.17 ]
248 1.9 4 2. 2640 EF @B ( F& K 2) R
1 26.93 &\ FF ( AEEDE 3) 5 2. 277 =Z—A Ex ( % 2) 1 1.50 Il /E ( &
2 2783 #MA #F (% H 3) 6 2. 2804 ER/NEHE (18 F0 2) 2 1.47 #B Kx ( £XHE
3 2911 dil BEE: (2 B 3) 7 2. 3413 FK B ( B2 B 3) 3 1.38 WWF BA ( fmErmis
4 30.656 & B® (W ™ 2) 8 2. 42.95 XBE $E ( €R&#RE 3) 4 1.38 JHF Hx (& M
5 30.66 FL K#W (K 1& 3) 5 1.35 @l %E% (=191
6 3296 M@ F0VB (4 1B 1) 6 1.30 mE BE ( 2XKE
7 33.80 #HF Em (4 B 1) & #F1500m [ 517 ] 7 1.30 §H MR ( %56
R 8 1.30 FEx<5 (% H
34 3.5 1 4. 39.28 REBE®HE ( famiH 3) 9 1.30 FAE E# (1B 70
1 2859 HME #H (B 2) © K&HE Eﬁ 1.26 t%H BF (&F R
22891 @Il EF ( EHN 2) 2 4. 56.46 =k XM ( £REE  2) 1.25 BK g (1, M
3 30.01 MX BF (F K 2) 3 4. 57.32 —a BE ( % 2) 1.25 HHA B ( b3
4 30.51 AEBREAE ( BEA 3) 4 4. 57.99 FKk HYE ( 2 # 3) 1.20 %895 (& &
5 32,81 LF B ( %£8RE 3) 5 4. 58.05 @IE KB ( AwmEDH 2) .20 #H ™ (% K
6 3341 BB ¥E ( % 3) 6 4. 58.16 =& I ( XHN 2) 1.20 RO #HdF ( B #
7 3433 BmM #x ( &R&KBE 1) 7 4. 5837 B# @\ ( F K 2) 1.20 @ x5 (% H
8 5. 525 HARKE (% HA 3) .20 FK =0 (W &
448 3.9 9 5. 12.13 #i#d % ( % H 2) 1.20 (LUl i ( BEEE
1 2848 XB& HFE ( £RfFE  3) 10 5. 12.53 EBiHZkEE ( 2HBI 2) 1.20 #HF HL (I
2 28.54 mEE BE ( &KHE 2) 1 5. 2433 WK BHH ( 5EE 2) 1.15 *23& i (% K
3 2096 %% HF (& @ 1) 12 5. 2511 ey & ( & 2) 1.10 SeATFHE ( %876
4 30.38 FEZRALD ( # 2) 13 5. 29.90 E#y #BE ( F& K 2)
5 30.55 /MNEFY®D ( B #¥ 3) 14 5. 30.67 BEHEX ( R 3)
6 33.64 #WF #F (K & 3) 15 5. 3437 &HH Fi (1B 2) & HEfRA®Q Tke) [ 5.18 ]
16 5. 56.64 FEFERALF ( 3 2) R
548 2.8 17 5. 58.62 &% FEM ( % 2) 1 9.74 #% HH ( FAmE
1 26.81 HE =3Hm ( EZHN 2) 18 5. 50.36 WT B# (& @ 2) 2 879 FH OB (5 &
2 2812 R HWEHE (B 3) 19 6. 095 #l HIh ( %KRE 1) 3 8.58 U Ex ( b3
3 20.10 EBR B ( £XHE 3) 20 6. 6.87 R BF (W & 2) 4 8.00 WT EBA ( famiH
4 29.67 HEH XEBE ( wEL 2) 21 6. 903 BE BF (| #n 3) 5 7.93 BAROLIE ( b3
5 31,12 KB #M (F R 2) 22 6. 11.37 #Il %5 (W @& 2) 6 7.86 AM FH#E ( XEHI
6 32.88 mTH Effi ( % 3) 23 6. 2273 AEEEE ( aES& 3) 7 7.81 LEAXRBRD ( KERE
24 6. 23.51 HE & ( %58 1) 8 7.66 =@ ® (K &
R 0.1 25 6. 23.56 MHERTF ( €RHBE 3) .28 FH fix (& H
12656 HE E®Hm ( EEFI 2) 26 6. 25.35 R& FEB (XK & 2) 7.06 #HOCH (B T
2 2671 J\I & ( FEEEED 3) 27 6. 58.03 K% HB (& M 3) 6.76 REHEEH ( =
3 2155 ZEHE HF (FH A 3) 28 7. 212 BE B (X & 2) 6.76 P EE (W @
4 21.63 i85 EBRE ( £8RE 3) 6.70 &H MRt ( BES&
5 27.83 xR HWxE (B M 3) 6.70 ZHE %£XF ( X &
6 2816 X& $3 ( £RfEE 3) & H£E3000mW [ 5.17 1] 6.49 WA & ( ZEFI
7 28.54 EHE FEH ( & 2)  RE 6.33 B KE ( %
8 28.74 mEE KEFE ( £XHME 2) 117, 2079 E HE (2 # 3) 6.26 HEt BF ( £&E
2 17. 365.30 #WA &FE ( 2 # 3) 6.07 HFREFH (W &
3 17. 50.17 &Lk & ( wEmdd 3)
& £F800m [ 5.18 ] 4 18. 40.22 WA g ( AEEI 2)
T8 5 18 . 47.51 BHFEHRDM ( €R&FE 3)
148 6 18 . 48.26 EX& = (% A 2)
1 2. 21.24 ¥ BT O(EHI 2) 7019, 27.19 ik T (% X 2)
2 2. 3179 EB/INEHE (B 2) 8 20. 68 X BEXK (% H 3)
3 2. 3402 HARKER (% H 3) 9 20. 19.95 KT EE ( & 2) (K&K
4 2. 52,96 # HIHh ( %kéE 1) 10 21 . 44.25 UK IEE ( ﬁ N 3)
5 3. 03 mF BEFE (& M 3) 1 23. 25.88 EMIEFEHF ( 8BS 1) B X1z KB B\ RE BE KE
6 3. 1.02 dh#t BAE ( F& K 3) 12 25 . 41.82 #2% & ( %88E 1)
7 3. 208 E%2 RA (& R 3) 13 26. 1270 KHEENE ( &8 1) [178]
118 B 19.0 3 2.3 50 1015
248 126% B5 20.0 dJe® 3.2 49 1014
1 2. 3212 B @M ( F K 2) ¢ £EFE100mH [ 5.18 ] 138 B 20.0 dJexE 3.4 44 1014
2 2. 39.11 EBEHER ( R 3) FE
3 2. 481 K B% (% A 2) 148 -1.9 [1881]
4 2. 5296 SA L (1B 2) 1 18.28 % &EFE (& @ 3) OB BE 21.0 ® 0.7 48 1009
5 2. 5578 FK EXE (H @ 3) 2 19.06 RHEEEND ( 8EB& 3) 118 B 23.0 ® 1.0 46 1008
6 2. 57.78 ®E #MF ( £XME 1) 3 19.36 & KF ( i 2) 138 B 23.0 3 0.2 46 1008
4 19.55 GhfE £ ( & 0 2)
34 5 19.67 LA ZEN ( wEH 2)
1 2. 2889 FEKk AB (2 # 3) 6 19.69 EEHABE ( L4 3)
2 2. 3047 XB $E ( &R&RE 3) 7 20.90 & IE* (% K 3)
3 2. 32.25 ®miA HEB ( FEHEE 2) 8 21.15 A FE ( %8 1)
4 2. 46.37 BWBERATF ( = 2)
5 2. 47.34 mAA E# ( R 2) 248 -1.1
6 3. 001 A XE ( X & 3) 1 15.67 #&L =& ( KiRE 2)
7 3. 1.78 AHE #F (& 1 1) 2 11.35 5 OEE (F R 1)
3 17.67 HHE #EF ( ,ﬂr“l 2)
448 4 18.60 EKAERE ( & 2)
1 2. 21.04 mk kM ( £REBRE 2) 5 19.87 HMAEBEF ( = 3)
2 2. 27.23 O Ex ( % 2) 6 2043 KXT ¥ (B # 2)
3 2. 3836 WK HHY ( 2EE 2) 7 2.8 EF F4 (W @ 2)
4 2. 43.22 ey  E (& 2) 8 2205 A E&/ (K & 2)
5 2. 53.60 EHE EF ( ZHN 3)
6 3. 13.35 #% =M (F R 3) 34 -1.1
7 3. 15,55 dJbhZEMF ( £XME  3) 1 17.07 JlgF FLy ( £RBE 3)
2 17.24 @A #HE (K & 3)
3 17.70 =& 7 ( EF 2)
4 19.09 ¥t X#E ( FEFEE 2)
5 23.59 /MR (s [ 2)

RNWRNRNWNWWWWWWRI RN WRN WW
NN N N N N AN NN AN AN NN NN NN



FE

R

R

¢ #F4x100mYL—

(BF)
148

DO WN —

248

DT WN —

3#

GO wWwnN —

O~ TTAWN —

(&F)

—_
Oﬁm-bw’\J—‘m

N
2]

DT WN —

3#

GO wWwN —

~NooThsAwnN —

47.
47.
48.
48.
49.
50.

47.
49.
49.
51.
53.
53.

46.
48.
48.
50.
51.

46.
46.
46.
48.
48.
48.
48.
48.

54.
55.
56.
56.
56.
58.

52.
53.
53.
53.
55.
55.

52.
54.
56.
57.
57.

51.
52.
52.
53.
53.
54.
54.

15
89
83
94
88
13

49
62
19
54
15
12

82
34
81
94
19

47
62
92
04
16
58
81
91

57
20
10
31
34
60

48
28
53
77
05
08

02

gl
® K
7 |
SRR
L]
R

58 &

F> S To S ¥ Tt
B B obob

& KM=

EEHN
%
i 5
& R
EEHN

=Ee

FRTAR
#

F H
ERBE
i s

B

B T

o
CRE )=

E3ie
ERMRE
%

EEN
X f&
L]

85 =

10
25
66

84
24
96

69
13

95

32 3

[ 518 ]

BEFT3 L A 24H 238 %2
= B 3B B 31 O 3L I8F2
HESEFESPI2MEHS
IEF2RE3FAE2)I63
M24BE 2L 33K 273

T EFIHA3IF LK ES

SESMEF3TE)IISHARS

FET2REEEF 20 113 443

LR3I E3EEIILK2
fiE] FA S[E 252 1 34 33

TEIMRN2E ARIEAS
HHE2ELSHII3HES

LB 3T AT SR B 23R 3
IRAIFR LS A3SEME3
FEASEEF 3L HE3TIS
h 23/ HIAA3FERAS
FHIILASRIFE2

LB 3T AT SR B2 3R 3

S ESHEFSH A S A
BEFT3 L 24 F 238 5% 2
RAIZR LS A3LEME3
= IR 3B B3 O 3L IkF2
HESEFESEMIEHS
IEF2RE3FAE2)I63
BRI EFILHE3IIS

HERER2RHIEIG2
F2UBAIF/UE2MHT3

RHAITEA3FAAILI
SH2ZE L2455 2/M112
fE O 3K K255 B3 RAT3
EWIKEF242H 11113

SHMEIL24FHI=EO1
BRI AIFHAEIL[E3
INESRTEA2H IS TES
B 25 RE 2= AR2%15L3
ZRIL35E M 3TT /MRS
ARE2HBHIK T2 A3

2L T3A)II3E AME2

BE 1R M2 EBF1XH3
EREITEAIEKRIFAL2
FIEIIH2AFTIFIAS
HH3LH2RESAEI

2L 3A)II3E A2

SHMEIL2EHI=EON
5 RO A3 AL 3
B2 RE 2= AR 244513
INESATA2H IS TGS
Z L3S M 3T 3/
BEI1R M2 EBF1RF3

R

R

R

R

& SLEEEDBE

(BF)

1 5.87 ( -0.
2 5.77 ( -1
3 5.45 ( 1.
4 5.32 ( 0.
5 5.28 ( -0.
6 5.28 ( -0.
7 5.25 ( -0.
8 5.23 ( -1
4.91 ( -1

4.86 ( -1

4.78 ( -0.

& 1. 2FEREB
(BF)

1 53 -0.
2 29 0.
3 24 -1
4 24 0.
5 16 -0.
6 10 -0.
7 10 -1
8 09 -0.
96 -0.

& SLEEEDBE

(&ZF)

O~NOO TR~ WN —

*
(&ZF)

OO~ WN —

AEARARAARARARERARAROOOOOOOO
[=2)
(32}

4.81
17
13
53
36
35
28
22
21
19
18
86
85

Bl e e a  aEakala

81
71
68
65
60
58
48
21
14
00
98
94
89
87
87
82
19
17
60
60

WL WL S AN A AN

(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(

NN AN AN AN AN AN AN NN~~~

N AN AN AN AN AN AN AN AN N N N N N N S S S~

-0.
-1.
0.
1.
-0.
0.
-1
0.
-0.
-1.
0.
1.
-0.
1.
-0.

1.
-0.
-0.
-0.

1.

0.

0.
-0.

0.

0.
-1

0.
-0.

. 2 FEER

SO0~ O MO rNOOOOO
CONN—=EOWWWHAJOO A WGIN ©

Woowhsp—wWoOoO—=ND

WOoOUITOONNOOSORARWW—=WNEINENOBROON

ANOONMNMNOOORER—=NOOO N

— e e e e e

e e e S

— e e e e e

e e e

&4
T
EH
EH#

z=E
£

Ex

=Y

12
M
iz ==}
w3
th

P
7
=
[=]

RiIH
-
=]
FFE
=0
iz
KA
53]
Ees

B
[CES
ES
2CH
Ex

B
WS
g%
3L
x5
ti
7
&7
HFD
F5h
Ek

BEItibthin

PN
TN
PN
HH
e+t
5

NI
& A

|
RE
R
B3

=

e

BEER

FiiE

NN AN AN AN AN AN SN~~~

NN AN AN AN AN AN AN NN~~~

N AN AN AN AN AN AN AN AN AN N N N N N S S S~

ol
—_
©o
(]

7

il L
bOp 2 b X0 E =

il

/\

3 7 ok 24 0 I ik Tk B

WWWWWwwWwwWwwwww
— e e e e

N=MNN—==NNN=NNNN=NNNNNdNN NN
e e e e S e S e S e e e e

WWWWWWWNhWWwWwWwwwWw
— e e e e e e

=N =N NN
e e e e



